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Public Administration

Paper II

TARAITET
gouent 11

Time Allowed : 120 Minutes]
Note : This paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U7 STRd. T WYY Wi

TOAT ¢ A1 TRAUCThd THY TR (100) IgTEEr U foeel ofed. W WA €1 (2)

Who of the following has restricted

the use of term administration to the
activities of the administrative
branch only ?

(A) Willoughby

(B) L.D. White

(C) Luther Gulick
(D) Marshal Dimock

According to critics, what is the main
drawback of the view that equates
administration with managerial

techniques ?
(A) It is too abstract and arbitrary
(B) It includes technical and

operational activities

(C) It focuses on the common

purpose of administration

(D) It provides a realistic character

to administrative study

TATAUhT IV TIMET o1 IegT= o
hded GIMHHRTH TME=AT SHIHRTST]

HAifed SeeT R ?
(A) foetrsi

(B) TA-El. =M<
(C) TgR Tfeish
(D) "R ferts

TTRTHTT FHIGTHRT=IT HA, TIITHAT=H
SFTTAHTT qATIN G HTOT=AT

gl & HAMNd &E 3 ?

(A) & §9 3 A AT ST

(B) I TR 01 SR foRameremdr=n
TR T8

(C) JETEAT=A FHM ¥ER ol Shisd el

Sl

(D) YRTERIT ST ar<earg] ey
EHERETT!

[P.T.O.



Who were the Cameralists and what
was their primary focus during 16th

to the 18th century in Europe ?

(A) Chinese administrators studying

public administration

(B) Indian priests practicing public

administration

(C) German and Austrian professors
and administrators studying

civil service

(D) Egyptian bureaucrats
specializing in pyramid

construction
In the administrative hierarchy,

what is the special connotation of the

term “department” ?

(A) The smallest unit below the

chief executive

(B) The territorial subdivisions of a

country

(C) The largest and highest unit

below the chief executive

(D) The academic divisions in

universities
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IS 1631 O 18%1 VARG
HAUTGE IV B ST == WHHH

L B e

(A) TESIe I 378 Hiom

IERIBREIEED

(B) NhTTEATET 319 SHI0ME WA

THTE

(C) T Ja= 1A AR ST 9
AT qeamaesh 9 YR

(D) ffae aiuermmE A@rfer TEa
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SIS AR aTal
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(D) foamdiemeier Sraforer fasm




Which has made administration
more transparent and closer to
people ?

(A) Liberal Policy

(B) Information and Technology
(C) New Economy Policy

(D) Administrative Reforms

Who distinguished between ‘sub-
stantive supervision’ and ‘technical
supervision’ ?

(A) Margaret Williamson

(B) Millet

(C) Pfiffner

(D) Elton Mayo

Assertion (A) and Reason (R)
pattern :

Assertion (A) : Span of control
means the span of supervision.

Reason (R) : ‘If the span of
supervision is extended thinly,
unsatisfactory result occur’.

Answer the question using the codes
given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true, but
(R) is not the correct explanation
of (A)

(C) (A) is true, but (R) is false
(D) (A) is not true, but (R) is true
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HYMHoo Y TSI o Tehn q9e Fe]

e ?

(A) STRHEAARET ERO

(B) wifedt & a9

(C) TEH aff¥er o

(D) URTHHRIE FHROM

‘T wAs’ 9 ‘qife qEEer’

WY Tl HIUT hell MR ?

(A) AMRE faeqad

(B) TR

(C) TPHTR

(D) We=d HEN

faum (A) snfor RO (R) 91 ¢

faam™ (A) : Fasv-faar &9 =S,
Tz wfaem.

HIOT (R) : ST 7980T &7 91 ded
T = ORuTe STEHTEH -
EQLCTO IR

Hehdieh :

(A) (A) 3T (R) Tl SR 3Ted ST

R) § (A) = 99 fageo amR

(B) (A) aTfT (R) Sl &R 31ed, T
(R) ® (A) = 4rg favemor At

(C) (A) ¥ aeR 3T, W (R) & I
3T

(D) (A) = 38, W (R) T SR 378

[P.T.O.



10.

Staff council were established by
the government of India on the

recommendations of ................. .
(A) First Pay Commission

(B) Second Pay Commission
(C) Royal Commission

(D) J. H. Whitley

The classification of services in India

is governed by the ............. .

(A) Civil services rules of 1955
(B) Civil services rules of 1930
(C) Civil services rules of 1947
(D) Civil services rules of 1929

What is not included in ordinary

pension ?

(A) Superannuation pension
(B) Retiring pension

(C) Invalid pension

(D) Injury pension or family pension

10.
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W% Sif-gerel T el gl
(A) Tfge oA AN

(B) T8 I SEM

(C) I =hiter

(D) . . @

WRATAIE] HaTe IR
e STe.

(A) Tt Fan srfufam, 1955
(B) GaT Hen HfufaH, 1930
(C) et Hen AfuftaH, 1947

(D) et "o Ay, 1929

n

YR =i ST 9=l HHEY B
e ?

(A) e et aed

(B) Fify=m dostax 1w gt

(C) =1 FIvI™ qUia: HA&H e

(D) FHEATAAT HTHRTS hieold  STTET
Aretel fehal ==l AW
= ToE HeeoR ode




11.

12.

Assertion (A) : Maslow was

interested in research in under-

standing human behaviour.

Reason (R) : It was the result of

his early career as psychologist.

Answer the question using the codes

given below :
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Peter Drucker’s concept of ‘MBO’

emphasizes :

(A) Motivation and control

(B) Communication and control
(C) Motivation and self-control

(D) Objectives and control

11.

12.
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foam (A) : 9 1 A6l a7 THSH
SIS HINEA B

SHIUT (R) : T HAETSR UM e
TR wRfRIE RO 2

Gl Hehdieh dM9% 9 S ol

+ .
.
+

(A) (A) AT (R) Sel TcF 3Tea T
(R) ® (A) < Irg DI 38

(B) (A) =71 (R) S ¥ #TRd W

(R) © (A) & I TR TE]
(C) (A) &7 318 W (R) ® 19 318
(D) (A) 3/ 3 991 (R) & TH 3T

Tiex Sohee THA. ST | = Hehed T AR
W2 :

(A) SR st fesm

(B) &owo enfr fsrmn

(C) sfyRm snftn o=

(D) 3fgse amfor faerm
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13.

14.

Minnowbrook-III broadly deliberated

on :

(A) The Future of Public
Administration, Public
Management and Public
Service

(B) The Issues of Public
Administration, Public
Management and Public
Service

(C) The review of Public
Administration, Public
Management and Public

Service

(D) The core values of Public
Public
Public

Administration,
Management and

Service

Mary Parker Follett’s book ‘Creative
Experience’ brings into focus the

problem of :

(A) Psychology in Organisation
(B) Conflict in Organisation
(C) Morality in Organisation

(D) Alternative

Government

System of

APR - 21224/T1—A

13. fH=Teer-111 A& Jax SATqeha fo=m-

fafa smen .

(A) SATRYIMEA, @l SHEXUG 3

o S i ~
GIETCINEIC IR e

(B) ShYSMEA, olich SHe&dmu- ATl

St T R

(C) EAThYIMEA, i SHaXdGd 3

= = d
Cllepdl «idl AHleldl

(D) TNHIIMEE, Tk SHIEATIH AT

cArpden A= JAYd oo

14. T8 UTR wioed Tk fhufes w-

(AW e

MEg' o SR o8 shigd L

(A) T AR

(B) HeeAdid HeH

~

(C) Tuadter Sfeeran

(D) IEATET Y9I Seeen




15. Match List I with List IT and select

the correct answer by using the

codes given below :

(@)
b)
(c)

(d)

(1
(2)
3)
(4)

List I
Chester Barnard
M.P. Follett
Chris Argyris
Abraham Maslow

List II
Management is a profession
Immaturity-maturity theory
Motivating behaviour

Organisation as cooperative

social systems

Codes :

(@ ®b) (© (@

@a O @ @ @

B 3 @O @ @

€ @ @2 @O B

D @ @O @) 3
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15. ¥ I, g1 11 Eeid a1 3o @rel
faeiean dfgdas arg 3ar e -

=l 1

(@) =TT THE

(b) THW. W

) f&a smiftg

(d) ASEH HRAl

e 11

(1) =HIETH 3 Ush Hadd 378

(2) STUgeEa-afiusear fag

(3) TRUMCHET SHaER

(4) HeE Ueh HRHN] HHISeh sHeree

+ .
.
+

(@)

A

B) 3

C) @

D) @)

®)

(2)

(1)

(2)

(1)

(c)

3)

(2)

(1)

(2)

(d)

(4)

(4)

3)

3)
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16.

17.

18.

Which of the following pairs is not
correctly matched ?

(A) Spiritual Father of the Social

System — C. I. Barnard
(B)

Management Guru - Elton

Mayo
©)

Father of Scientific Management
— F. W. Taylor

(D) Nightingale of Management

Science — M. P. Follett

From the following which is not
the characteristic of charismatic
leaders ?

(A)
(B)
(&)

High levels of dominance
High levels of self confidence
They don’t have ability to

convince followers

(D) Strong conviction in the moral

righteousness

The ‘CLECTS’ in prismatic society
of F.W. Riggs are :

(A)
(B)

Elected leaders of middle class

Political leaders who could not

win the elections

()

Elite groups who use traditional

clout to win elections

(D) Typical prismatic group

16.

17.

18.
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ETATAIh! BV STl sRER Tood
el ?

(A) TS HaE aeAfcae famg
- Y. . eHe

(B) HIAUT & - Teed Al
(C) IS ez fuame - .
T, e

(D) SIEATIT TSI —||$°|¢4|c1 —

. W e
JEICTieh ShIVIA SHTHTS Teard dfeTsed
T ?
(A) =EEE S5 s
(B)

AL 39 Taal AHagaTd

S e

RS ATARM qegd auars!

(&)

(D) Afew enfferier g favem

T.
‘Foieeg’ § AR
(A) HegH 9 fHaited d

(B) €A 7 el USTehid Ad

gery, TSt =2 SAretehld AT

(C) fragvs fSwTamEE it

FHEET 9T B0 3=9Y T

(D) deeiE THEE Gy SHeM

10



19.

20.

Which of the following statements
is incorrect regarding the elements

of New Public Management ?

(A) An attention to lesson from

private sector management

(B) A focus upon entrepreneurial

leadership

(C) An emphasise on input and

output control and evaluation

(D) An emphasise on authority and

responsibility

According to Fayol, ‘Administrative

skill that is required also in :

(A) Industry, Government as well as

home management
(B) Industry and home management

(C) Government and Administrative

Process

(D) Home management and industry

19.

20.
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To ieh SHERATIATA Seahi=a Haum
T ®Od f99E T se ?

-

(A) ST &3 SFEEATIA=AT Wehaviee

o <

(B) SESIE Adcael
(C) ARM &t gs™ s e
T AR 9T

(D) 3R 27T SaEeRer 9T

AT A, RMFhId hHITeId &l &

o

<Ed AEvIS A ;

(A) =i oemfor 9mEH

diead T8

E2EIINE|
(B) @M & & LA
(C) ¥IMHA 9 & HARAIA

(D) & AU d 3N

11

[P.T.O.



21. Matching Pattern :
List I
(Provisions)
(@) Board of Control
(b) Central Administration
(c) Governor General
(d) Secretary of State for India
List II
(Acts)
(1) Regulating Act, 1773
(2) Government of India Act, 1858
(3) Pitts India Act, 1784
(4) Charter Act, 1833
Codes :
(@ B () ()
A @ @ @ @
B) @ 1 @ @)
o DD @ @ @
D 8 1 @) @
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21. Srea @A

qrar-1
(D)

(@) T ==

(b) Hed UREA
(¢) TR SRed
(d) YRarE T 9fhd

Irat-11
Capr)

(1) fEms Afat=m, 1773

(2) YA ¥R hraqr, 1858

(3) fyem sfean o, 1784

(4) =T HEEI, 1833

- .
.
+

(a)
(A) 4)
B) )
©) @

D) )

(b)
(2)
(1)
(2)
(1)

(¢) ()
3 @
4) (2)
3 @
2 @

12



22.

23.

The position and role of the Cabinet
Secretary has been influenced by the
emergence of the following powerful

mechanisms :

(A) NITI Aayog

(B) Finance Commission

(C) Inter-State Council

(D) Prime Minister’s Secretariat

The Cabinet Secretariat performs

the following types of functions :
(1)

Preparation of agenda for

Cabinet meeting

(2)

Keeping minutes of meetings of
the Cabinet

To co-ordinate the work of

3)

various Ministries

Dismissal of members of the
Cabinet

(4)

To assist the members of the

(5)
Cabinet in discharging their
parliamentary responsibilities

Codes :

(A) (1), (2), (3) and (4)
(B) (2), (3), (4) and (5)
(C) (1), (2), (3) and (5)
(D) (1), (3), (4) and (5)

22.

23.
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shisHe Hieer 98 S0 9fHehl Teiiel
SIS A= SEAHes WTfad Sl

e
(A) it SmEm
(B) fo@ omam

(C) STarsg qftve

(D) YauaHTe Sy

qi5Hees Giared Eelid U= i

IR Ed

(1) HiTHecr=an sah=t HIHRHIThRT

TIN FHY0!

(2) TfHee=n St g S

-

Tafay weeEa T gu< oau)

(3)

(4) AR TS gSd% ol

(5) WiEFEs Yo=MT TUS T SeEe=l

TR AISUIEE Hed
Hehdiah :
(A) (D), (2), 3) @ (4)
(B) (2), (3), (4) & (5)
(C) (1), (2), 3) 9 (5)

D) (1), (3), (4) = (5)

13
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24.

25.

26.

By which Act the Central

Government has established over

Provincial or Presidency

Government ?
(A) 1772 Act
(B) 1773 Act
(C) 1833 Act
(D) 1857 Act

How many proposers and seconders
are essential for Presidential
candidates by ordinance of June
1997 ?

(A) 50 proposers and 50 seconders
(B) 20 proposers and 20 seconders
(C) 10 proposers and 10 seconders
(D) 01 proposer and 01 seconder

Which of the following statements
about the Union Secretariat in India

is incorrect ?

(A) It is a policy making and

executive body
(B)
(&)

It is a policy consultancy

The Secretariat is headed by the

Cabinet Secretary

(D) It is the collective name of
all the departments in the

Secretariat

24.

25.

26.
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NN

ST TR g feen Sfae—=

TLRTET Sheld TRl T el

eft ?

(A) #AffTIm 1772
(B) aifaf=w 1773
(C) =ifafv 1833
(D) afaf=H 1857

ST 1997 = HATUIHTHTY Tega
T SHEANIEIS! fefiell Y=eh o STHIGe
@IS Aed  ?

(A) 50 =k ofo 50 TIAR®
(B) 20 == 3mfor 20 STHRSH
(C) 10 gdk 31 10 HAHIGH
(D) 01 Y=k 301 01 HAHIGH

n NN ) ~ S Y
HIXATATA shq[F H=EITATS e EledleTyeh]

FIo faum gEe o ?

(A) & 9RO ST F HERRT Tl
AR
(B) & TF HNU FeoR TE 3R

W

chisie Gi<d Sidid

(C) Hf=amerar Add

(D) ® HfuareEnda gd faurme TR
EICREI

14
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27. According to recommepdation of 27. F AGT AT 1997 = RIERTITER
Central Pay Commission, 1997,
how many years service is must for e 2o IAS it el
IAS officer become the District oY ol AEAYIE e 7
?
Collector * (A) TE T8
(A) Six year of service
: . (B) 7= &« &
(B) Nine year of service
(C) Twelve year of service ORLLLE
(D) Fifteen year of service (D) we o Ee
28. How many grades of ‘Mansab’ were | 28. 3T®sR Tl fhdl U8 oM ATHIGRH
there in Akbar time ? B ?
(A) Fifteen Grades (A) 980 9§ &
(B) Twenty Grades (B) =¥ ug =i
(C) Thirty-three Grades (C) dedi¥ g =
(D) Forty Grades (D) =g qe o
29. Which of the following are | 29. ANTehigd YIEAR GIeicis! 0w
barriers in Citizen Centric e ;
Administration is identified by S , M A g
the second Administrative Reform HERm HEMH el Med 7
Commission ? nA -
(1) - HIhr=l Gedl gIodhiH
(1) Onward looking attitude of civil
servants (2) TATHATIIET
(2) Red tapism (3) TRTHERIE Ty Gfaemqed sre=ft
(3) Difficulties in administrative
infrastructure I qatg e
Choose the correct option : (A) ®d (1)
A) (1 1
() (D) only (B) W (1) a7 (3)
(B) (1) and (3) only
(C) (1) and (2) only (C) e (1) s (2)
(D) (1), (2) and (3) only (D) wet (1), (2) A0 (3)
15 [P.T.O.



30.

31.

The Revenue Administration in the

Mughal rule was under :
(A) The Wazir

(B) The Diwan

(C) The Mushriff

(D) The Mustanfi
Which

regarding Municipal Corporations

in Maharashtra ?

statement 1is correct

(A) All Municipal Corporations in
Maharashtra are governed by
the Bombay Municipal Act,
1888

(B) The functioning of all Municipal
Corporations in Maharashtra
is governed by the Nagpur
Municipal Corporation Act,

1948

(C) All Municipal Corporations in
Maharashtra are governed by
the
Municipal Act, 1949

Bombay Provincial

(D) All Municipal Corporations in
Maharashtra are governed by
Municipalities, Municipal

Council Act, 1965

APR - 21224/T1—A

30. oS TSELId Hedel W Il ST

31.

B

(A) =S
(B) fa=mm
(C) HH®

(D) TR

RN Her T RUT cTeh =T STeiild hivKd

faam seR e ?

~

(A) TERTSEIIe |6 He T RdTicieh
TS Hos A1 ST, 1888
TR =Terd

=~

HERTEIdel 96 HeRuToehi

(B)

ShTHEhTST AT HAYT 3Tief=m, 1948
TR Ired

~

TRl |el R arfereh=

(&)

1949 THR =Terd

~

TERTSEIAel 9d  HeTRuTeTehi =

(D)

hiHenlsl "I‘I{L-Illr\t'ichl, SRR IR

arfyfamg, 1965 WHMO =Terd
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32.

Which of the following statements

are correct about the Governor of the
state ?

(1)

The executive power of the state
is vested in him

(2) He must have attained thirty-

five years of age

He holds office during the
pleasure of the President

3)

(4)

The grounds for his removal are
laid down in the Constitution

Codes :

(A) (1), (2) and (4)

(B) (1), (2) and (3)

(C) (1), (3) and (4)

(D) (1), (2), (3) and (4)

32.
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o B 2 R R G G B G G [ R E AT

faum 9 e ?
(1)

T TR IR AT S

Tfeq =1
icicei i ic el Uil i

qSOdrE] Hei a0 U5 ER
h {dld

2)
3)

(4) AT hTgH TRUATH U HITEHT

feeter o
Hehdich
(A) (1), (2) =7for (4)
(B) (1), (2) & (3)
(C) (1), (3) sfur (4)
(D) (1), (2), (3) 70T (4)

33. Who recorded this observation | 33. TemEl Uhhad M @R HAY
“Despite the important role of local C e
self-government bodies in the TR 01 A TR TR Feerr
democratic process and in meeting e YRt STgE!, o Teefiohe feio
the basic needs of the people, the ) ’ )
financial resources generated by QIR ST TRTEH =T TRMTeT Eo
these bodies are far less than their FN o T Fiww S SRl ?
needs”. ‘
(A) Balwantrai Mehta Committee (A) FeTgaR™ Hegal did]

B) First Administrative Reforms & “
(B) Cl CTTTIISTTAtly (B) dUfgen TRTHRE FHRON STEM
ommission
(C) Sarkariya Commission (C) TR A=
(D) Second Administrative Reforms .
Commission (D) SHU UITHHE FHROM T
17 [P.T.O.



34.

35.

73rd Constitutional Amendment
Act 1992 relating to Panchayat Raj

Institutions does not apply in :
(1) Mizoram
(2) Meghalaya
(3) Nagaland
(4) Goa

Codes :

A) (1), (2), (3) and (4)
(B) (1), (2) and (3)
(C) (3) and (4)

(D) (1) and (4)

The provision of Governor of the
State in India is borrowed from the

Constitution of :
(A) US.A.

(B) Canada

(C) England

(D) France

34.

35.
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TETHS] SR TEfed 739 SeAgew
sifafT=m 1992 v YT AN B
e ?

(1) foeirm

(2) W

(3) ATl

(4) =T

m :

(A) (1), (2), (3) 7fu1 (4)
(B) (1), (2) & (3)

(C) (3) a1fur (4)

(D) (1) 3o (4)

TRATHES AT T & AR ShIvre

N iorr G Cor B
(A) F.T4.T.

(B) &=t

(©) ¥

(D) w4

18
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36. When the Cantonment Boards are | 36. VRAM) Tesh HSos Thoal LTI STt 2
established in India ?
(A) 1919
(A) 1919
(B) 1935
(B) 1935
(C) 1924
(C) 1924
(D) 1947
(D) 1947 ‘
37. ‘U’ A FERMTIER TGN g1 T
37. According the Act PESA Gram R 5 )
Sabha has special powers of :
(1) e Femed
(1) Administration of canals )
(2) TRESE!
(2) Prohibition of liquor
(8) SN eTgSaEH
(3) Mimer products in the forest 3
(4) Manage village markets (4) AR SIS SFaEe
Select the correct codes : e st
&) ), @), 3 (A ), ), @)
(B) @), (3), @) B ), 3, @
D) (1), (2), (4) D) (1), (2), (4)
38. In Maharastra how many members 38. W@f TR FerErEe! fodt Tae
are elected to Nagar Panchayat ? fereel Smam ?
(A) 10 (A) 10
(B) 12 (B) 12
(C) 17 C) 17
D) 15 D) 15
19 [P.T.O.



39.

40.

41.

In 1787 the District Collector was
given, which of the following

powers :
(1)
(2)

Civil Justice and Magistracy

Developmental Activities in
District

(8) Administration of Revenue
4)
Select the correct codes :
A) (1), (2), 3)
(B) (2), (3), (4)
(C) (1), 3), (4)
D) 3), (2), (1)

In the era of Ashok dynasty who was

Law and Order

known as present day’s collector ?
(A) Cirkar

(B) Rajuka

(C) Vishayapati

(D) Uparik

The most popular form of city

government in USA is :

(A) Parlimentary Commission

(B) The Mayor—Administrator Plan
(C) The Mayor—Council Plan

(D) The Commission Plan

39.

40.

41.
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T.9. 1787 9 Tocaifesr=are Eeieiieh]

Fog afger foor B9 ?

(1) =¥ 9 TSIfUsR

2) fScardtar fawm M
(3) WEHT TRMEA

(4) =hHEQT A YAl
AN Hehdih oSl :

A) (D), (2), 3)

(B) (2), (3), (4)

(C) (1), (3), (4)

D) 3), (2), (D)

fSeRIfaerTd o UERE TS ST9NeRT=AT
TSEe|ed Sivd Bld 2

(A) faer

(B) TS[eR1

(C) forsrmat

(D) SUIfieh

HYHK T STHRhd TS W8T TR Falid
TRT ThR & 3

(A) THEE AN

oo

(B) T TmR—sfeffeer =M

(C) T BR—hHe o

(D) T FHHIHE =[

20



42.

Factors contributing to the emphasis
on Comparative Public Administration

in America :

(1) The influence of German

immigration since about 1933

(2)

The translation of the writings

of Max Weber

Because Public Administration

3)

emerged in America

(4) Final entrance of the USA into

APR - 21224/T1—A

42. AT TEAHE ARIRIEATE. S

T hNE HeH § I :

(1) gIR 1933 IR STHATIT Teerayr=

JHI

(2) HHg Je= ToEmmE 9

(8) SRV ARYREANET €A U

HTedl

(4) 1945 S9Y WAk IISTRTIOTTG

SHREh=1 sifad e
world politics after 1945

(A) (1), (2) sfur (3)
(A) (1), (2) and (3)

B) (1), (2) amfu (4
(B) (1), (2) and (4) B @), @ )
(©) (3 and (4) (©) (@ s (4
D) (2), (3) and (4) D) (2), (3) afur (4)

43. Who says “Administration cannot | 43. TIERUNT TENYd GlALMmed agel hedl-
normally improved very much ToTema WA W BRI R
without changes in the 3% vHa TR o T9 R TEd 2
environmental constraints”.

(A) TR e
(A) Gunnar Myrdal
: (B) %e fos
(B) Fred Riggs
(C) F. W. Taylor © T L &
(D) H. Emerson (D) TH. T
21 [P.T.O.



44. Consider the following statements :

(1

(2)

3)

(4)

Behavioral Approach emphasis

on facts.

Systems Approach views an
administrative system as a sub-

system of the society.

Ecological Approach examines
the instructions between an
administrative system and its

external environment.

The Bureaucratic Approach
has been used to study the
of

developmental role

bureaucracies.

Which of the statements given above

are correct ?

(A) (1), (2), (3) and (4)

(B) (2) and (3)

(C) (2), (3) and (4)

(D) (1), (3) and (4)

APR - 21224/T1—A

44. TEE faam fo=ra =0

(1)

2)

3)

(4)

(A)

(B)

(®)

(D)

FaHS  gfteshd qeeR X T4

AT GI62eh! USTHHF ATl

A SYeHeeel WBUH B

T e §ftaahiT FIMHH A

AT I dlel dAldiay]

AT T T

IR I CEAR IR C A ILER]

AT HITITETST A1 H LI CH

gfiee™ aTRan fien o7

(1), (2), (3) =701 (4)

(2) =7t (3)

(2), (3) 2701 (4)

(1), (3) =7fo1 (4)
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45.

46.

Which of the following is the
structural feature of administration

in the developed countries ?
(A) Organizational Structure
(B) Rational Bureaucracy
(C) Powerful Bureaucracy

(D) Centralized Administrative

Mechanism

Assertion (A) and Reason (R)

pattern :

Assertion (A) : The Cabinet
operates under the leadership of the

Prime Minister in Japan.

Reason (R) : In Japan the Cabinet
is responsible to the Emperor and
not to the Diet.

Answer the question using the codes

given below :
Codes :

(A) Both (A) and (R) true and (R)

is the correct reason of (A)

(B) (A) is true, but (R) is false

(C) Both (A) and (R) are false

(D) Both (A) and (R) are true and

(R) is not correct reason of (A)

45.

46.
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~ [

faerfaa eYNdiel IYMEAT S{TTcHS

~

.
i

oo Weclieh! hivd 3T ?

(A) HESHE T

(B) TG HME]

(C) VIS TRITTE]

(D) fsHa WIMHSRF F0m

faem (A) &for &R (R) 91 :

faems (A) : SUEEES gAYl

TqcaTErett HEHee $1 F.

®ROT (R) : SUMHE hisHe SHmEm

SETeRR 3TR, STieel el

Hehdieh :

(A) (A) sfon (R) T2l sReX o7 (R)
T (A) A A FRO TR

(B) (A) S 317, W (R) T IF 3T
(C) (A) smfor (R) SF&t g oTed

(D) (A) 7T (R) Trar SRR 3Ted ST

(R) ¥ (A) ¥ 379 FRU 8]

23
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47. Assertion (A) and Reason (R)

48.

pattern :

Assertion (A) : The more the
development of technology, the
higher the level of differentiation.

Reason (R) The level of

differentiation in any country
depends on the technological and

non-technological factors.
Codes :

(A) Both (A) and (R) true and (R)

is the correct reason of (A)
(B) (A) is true, but (R) is false
(C) Both (A) and (R) are false

(D) Both (A) and (R) are true and

(R) is not correct reason of (A)

Which of the following is not

included in ethics in research ?
(A) Seeking consent of respondent
(B) Providing incentives

(C) Maintaining confidentiality

(D) No asking sensitive question

APR - 21224/T1—A

47. faam™ (A) s RO (R) 91 ¢

48.

o™ (A) : TR fam e S

fqdenl SSUETEl Uides! ST,

HRUT (R) : HIVCAE SIMATA HihrE
st difres i -t Seehier

AT .

SO

(A) (A) i (R) <81 siis” &7 (R)
T (A) = 9rg HEO 3T

(B) (A) =R 38 g (R) T I 3T

(C) (A) smfor (R) = 9% 3Ted

D) (A) A7 (R) Sl e 3R 100

R) T (A) = g FHRI &
T sh! hIvd] &l WY e
AfeRomed I TE 2
(A) STREATE HHdl fesfam
(B) wifiwiifien <01
(C) @ et

(D) Hacetd yva 9 fa=mm
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49.

50.

Identify the incorrect statement :

(A) The comparative administration
group as set up in 1963

(B) Ferrel Heady was the Chairman
of the CAG from its inception to

the end of 1970
(C)

The Comparative Administration
Group (CAG) has widened the
horizons of public administration

CAG to focus on the adminis-
trative problems of developing
countries

Assertion (A) and Reason (R)
pattern :

(D)

Assertion (A) The
Indeterminacy promotes a bazar like

Price-

atmosphere in a prismatic society.

Reason (R) : In a prismatic economy
‘arena’ as well as ‘market’ factors
coexist simultaneously.

Answer the question using the codes
given below :

Codes :

(A) Both (A) and (R) true and (R)
is the correct reason of (A)

(A) is false, but (R) is true
Both (A) and (R) are false

Both (A) and (R) are true and
(R) is not the correct reason

of (A)

(B)
(C)
(D)

49.

50.
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i oo fesEn :
(A) H7 1963 T T LI Tersl
YA Al

(B) ™ BEl ® 1970 =41 e TG
qeTcHsh  TETEA e S7eAel BN

(C) qAcHeh 9RmEA UEERSIE N NILSRIE]
gfdsl ¥g ol AR

(D) TorsrerTeiiet Sem=dT TRIEehts HHEen
we hfgd HLTAHTE ATcAs
TRTEA e

gfqared (A) 3T Rl (R) THT ¢
wfeare (A) : frma-s1Ht=mar femfen

= n
HEEEHE AEERNEd] aaraiond

WedTe <.
FHRT (R) : Toerdfess arefezaedy ‘ famr’

e STeIR 92k Uehle dedl Uehsl ST9aw.

el feeTel Hehdieh JYEd Y9 ST

oI o

SO

(A) (A) =1for (R) SEl sI=R 3707 (R)
T (A) 9 IMY &R TR

(B) (A)%%,W{'@(R)%aﬂmm

(C) (A) afur (R) Sl I 3ATed

D) (A) o1 (R) S8l BRI (R)
T (A) 9 AFg SR AR
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51.

52.

Which country practiced limited
operation of market mechanism with
the state playing an active role in
guiding the economy for the welfare

of the community ?
(A) Japan

(B) Malaysia

(C) India

(D) China

From the following which statement
is true with regard to ‘Sunset

Legislation’ ?

(1) It is a formal process of policy
review for eliminating the
undesired, outdated, redundant

and irrelevant.

Elimination or minimization of

2)

low priority programmes.
Select correct codes :
(A) (1) is correct
(B) (1) and (2) are correct
(C) (1) and (3) are correct

(D) (1), (2) are incorrect

51.

52.

APR - 21224/T1—A

TRV ST SISTR F0r=AT HAlGd hra=i
S hedl S HHSTAT HedTHIe!
AL AN HL0AT Gish YfHeht
ESICE

(A) SM™
(B) Heifrn
(C) ¥«
(D) =

W TAUsh! hivl faem ‘A fagees’
Heulg R e ?

(1) ordifed, sTcienel, AAEvaeh 3T

YT G TRUATHIST & R

IR STaTe: Hisha 3.

(2) FHH WU FRHAE STaRe fohdl
FHHT L.

I Tehdieh ISl
(A) (1) SRR

(B) (1) =7for (2) =R
(C) (1) e7ftn (3) =Ia
(D) (1), (2) THM 3Med
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53.

54.

Assertion (A) : The Public Accounts
Committee plays a very important

role as the watch-dog of Parliament.

Reason (R) : The basic material
from which the committee draws its
subjects for examination are the
audit reports of the Comptroller

General of India.

(A) Both (A) and (R) are true and
(R) is the reason of (A)

(B) (A) is false, (R) is true
(C) Both (A) and (R) are false

(D) Both (A) and (R) are true and
(R) is not the reason of (A)

Which committee fixes a time for
voting a particular demand and for
all the demands for grants included
in the budget ?

(A) The

Committee

Business  Advisory

(B) Department Related Standing

Committee

(©)

Minister of Finance

(D) Rajy Sabha

53.

54.

APR - 21224/T1—A

faeam (A) : Sihoren Tffdl g g9e=n

el WUA Hewaqul iRl s

HROT (R) : |HAT S HAYd Ao
TLIIOMEEST 3T9el To99 Fled O YR
EREEREIGEe R E T BRGEC T kS|

3TEATA TR

(A) (A) A1 (R) T2l T 3Tea
(R) ¥ (A) = RU 3%

(B) (A) @X 38 (R) § ®R 3%

(C) (A) =1for (R) Sl @iie Ted

(D) (A) a7 (R) Tel | 3Ted AT
(R) ® (A) ¥ &R el

IO WSS ANONEES] e
FoamETSt o srefuwmea gATfas
Fheredl HIRM ¥ ATl @
Tfvea s ?

(A) =HIHE HodrR i
(B) fayrmeft Hefoa Tl 9ib«d
(C) vt

(D) T==IHEE
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55.

56.

57.

From the following which provision
deals with the Money Bill as per
Article 110 of Constitution ?

(1) Imposition, abolition, remission,
alteration or regulation of any
tax.

(2) The appropriation of money
out of the consolidated fund of
India.

(3) The imposition of fines or other
pecuniary penalties.

Select correct codes :

(A) (1) and (2) are correct

(B) (1) and (3) are correct

(C) (2) and (3) are correct

(D) (1) (2), (3) are incorrect

Who is the Chief Accounting
Authority for all transactions of the
Ministry ?

(A) Secretary

(B) Joint Secretary

(C) Chief Minister

(D) Finance Officer

Which Article of the Constitution
exempted the property of the union
from all taxes imposed by a state or
by law provided otherwise ?

(A) Article 284
(B) Article 285
(C) Article 270
(D) Article 272

55.

56.

57.

APR - 21224/T1—A

EICTIeh! ST TG o eTEe oA HerH

110 T9R sAfagmeRn ffea em ?
(1) =RIVATE! T TR, TGE v, HIG,

EHGICTEIRE DL

(2) yRarea sty frefga demen
fafam

3) YT fFhar s s T @

I Gehdish fael

(A) (1) @nfor (2) R

(B) (1) 3 (3) sHi=}

(C) (2) v (3) ==}

(D) (1) (2) 3707 (3) Fehi= 3Td

AACETA e SEsdel §ed ol

S Eeariies e i)

(A) Hf=e

(B) HeHfed

(C) Heaws1

(D) o siferrd
TSTEEAST] HITCAT hodd e

AT TSIRER feha == sfaid
HTITATE AIHFRTMGAR eeTefean ol
FOHYT G2 Toeit ste Sl T e
e holl AEl 7

(A) e 284

(B) ™ 285

(C) =em 270

(D) eH 272
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58. Match List I with List IT and select

the correct answer from the codes

given below :

(@)
(b)
(c)
(d)

(1

(2)

3)

(4)

List 1

Audit of Accountancy

Audit of Authority

Audit of Appropriation

Audit of Propriety

List II

Ensure that expenditure had

the requisite authority

To detect cases of extravagance

and waste

To see the complete and true

picture of final accounts

Most
obligatory audit

important part of

Codes :

A 3
(B) 4)
©
D) 3)

(@) ()
(1)
(2)
4)

(1)

(c)
(4)
(1)
(2)
(2)

(d)
(2)
3)
3)
(4)

APR - 21224/T1—A

58. §ETl I 9 ¥t II & Jeoall 0T wrreit

feetean Hfgdqa 9 3 fraren .

(@)
®)
(c)
d)

(1)

2)

3)

(4)

et 1
ETILI&T
TTEhTO TR 70
ferfram e
FEq ABTIR&To
e 11

SOl W el ddghe i
ST UHhR ST A=t
Tt
SYUBULE AU SATTTH TR0l
STeT

T et wyet et 'Ry o <1
U

o~ [N o

AaE Afe<a Ham Hexd =l 9

31e
Hehdih

A 3
(B) 4)
€
D) 3)

(@ (®)
(1)
(2)
4)

(1)

(c)
(4)
(1
(2)
(2)

(d)
(2)
3)
3)
4)
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59.

60.

According to Gladastan which are
the following principles of good

budget ?
(1) The budget should be balanced.

(2) Only one budget for all financial

transactions.
(3) Budget should be on net basis.

(4)

Budget should be on annual

basis.
Select the correct codes :
A) (D), (2), 3)
(B) (1), (2), 4)
©) (@), (3), 4@
D) 3), (4), (1)

Which is the final stage of the

budgetary process ?

(A) Passing of Money Bill

(B) Passing of Finance Bill

(C) Passing of Appropriation Bill

(D) Planning, Scrutiny, Accounting
and Audit

59.

60.
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TSR AA HATTHR AN STRTSTIseh <

Tk BT Twd oTed 2

(1) ENYAF Hdferd 3M™E.

(2) 9 foxiia SFaeREe THd HAee-
EECTNC LI

(3) SRS eae W faaw
M.

(4) SESTEE AMGE TEE.

I HWehaieh TEEl

A) (D), (2), (3)

(B) (1), (2), (4)

©) 2), (3), (4)

D) 3), (4), (1)

STQTSTIAH I WIShAIA S| 20 ShIor 2

(A) o[ faggss 9 Lo
(B) fou foggs o9 L0
(C) faf=m fatees 99 &

(D) A=, =ToTolt, oien aevl F ol
T
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61. From the following which are the | 61. TEIcTYh! FHSTHTATITHT SHIowT AFITSZT
characteristics of social welfare ? aRd ?

(1) Utilisation of welfare measures (1) TEva S e A qgé@llc'ﬂ
to support or strengthen family ST ST fEA SEEN T
as a basic social institution. A e BT

(2) Intent to strengthen the N

8 (2) i gftfeerdi=n |EAT SHIoAEE
individual capacity to cope with
IR &A1 HEE HIUATEl B
the life situation.
AN Hehdih el
Select correct codes :
A) FE (1) e 32

(A) (1) is correct (&) D

(B) (1) and (2) are correct B @ @ ¥

(C) (1) and (2) are incorrect (©) () s (2) & T E

(D) None of the above (D) AR HIUE ATl

62. Which period is declared as | 62. FIUKI HIAEHT TIF T AL
International Women Decade by the nfeell e A | e SR ?
United Nations ?

(A) 1965-1975
(A) 1965-1975
(B) 1975-1985

(B) 1975-1985

(C) 1985-1995 (C) 1985-1995

(D) 1995-2005 (D) 1995-2005
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63.

64.

65.

From the following which scheme is

not intended for women ?

(A) One Stop Centre Scheme
(B) Swadhar Grih Scheme

(C) Anganwadi Services Scheme
(D) Ujjwala Scheme

Which community is not included in

minority at the national level ?
(A) Christians

(B) Buddhist

(C) Zoroastrians

(D) Gujarati

The objectives of ‘Hamari Dharohar’

programme are :

(1)

To curate rich heritage of
minorities under overall concept

of Indian culture
2)
3)

Curating iconic exhibitions

To benefit minority youths

especially school dropouts
Select the correct codes :
(A) (1) and (2) are correct
(B) (2) and (3) are correct
(C) (1) and (3) are correct
(D) (1), (2) and (3) are correct

63.

64.

65.
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a N ~

WCETtehT ShIVTT AT HeeTaST ST
T ?

(A) &9 W= &g A=

(B) @YX g ISl

(C) 3ruETel Fan A

(D) SoweAl Al

T WA 10 HHREE -

HEARHE HATR AR ?

(A) Tge=r

(B) s

(C) FfEaT (uTeE)

D) T

‘TAR e wEEHET B R AR

(1) ¥q9 9RAE S¥hd=a &ed-
Tel! T aREr= STeuHeAh

AU h{V]

(2) foviy Yoy SHeReTUT S

(3) TMHHRT Tledl ArEum diQ"-N-i{OJ—{iOh

TEUAAl HRIRT Qrgee]
7 Hehaih Faer
(A) (1) 37for (2) s e
(B) (2) 37for (3) s ared
(C) (1) i (3) =IeR 37Ted

(D) (1), (2) @Afn (3) S AR
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66.

67.

68.

Which Act

Government of India to provide a

was passed by

uniform pattern of administration,
care, protection, treatment and
development of neglected or

delinquent juvenile.

(A) dJuvenile Justice Act, 1982
(B) dJuvenile Justice Act, 1983
(C) dJuvenile Justice Act, 2000
(D) dJuvenile Justice Act, 2001

Who remains the Chairman of
National Disaster Management
Authority ?

(A) President

(B) Prime Minister

(C) Chief Minister

(D) Judge of Supreme Court

In which year National Disaster

Management Authority was

constituted ?
(A) 2001
(B) 2002
(C) 2004
(D) 2005

66.

67.

68.

APR - 21224/T1—A

TOTRA, ShTessTt, &I, SUER STOT et ar
e eroelt feRvTRE= qoTr=n UehamH
THAT UG HITATHIS! TR HLhRA ShITdl

ST HSR el ?

(A) 91T =g hraar, 1982

(B) @&t =™ shrEal, 1983

(C) ¥ed =M™ <hrFal, 2000

(D) 9 =™ gl 2001

TS SR TSI AR {oTel S7ee]

IV AT ?
(A) st
(B) Tagem™

(C) TEaHA

(D) Talea =aEeEr =TEe

FHIOTCT S ST SATATT SHAEATIH
YIFeR o=t TAMOA] A o] 2

(A) 2001
(B) 2002
(C) 2004

(D) 2005
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69.

70.

What is Affirmative Action

Reservation ?

(1) Policies that promote the
representation and participation
of groups that have been
historically marginalised or

discriminated against.

2)

It is a action plan for welfare

of the citizen.
Select the correct codes :
(A) (1) is correct
(B) (2) is correct
(C) (1) and (2) are correct
(D) (1) and (2) are incorrect

Through which constitutional
amendment Sarva Shiksha Abhiyan
(SSA) is mandated by Government

of India ?
(A) 85th
(B) 86th
(C) 87th

(D) 88th

69.

70.

APR - 21224/T1—A

TR Fdl ARGT HE AR ?

(1) Ufqeergsean geifem fohan SgwmE
heied] T FfiHTEeE S Hewrme
e QU &R,

(2) B AT FHeATIHS FHdl Al
8.
AFE Gehdleh Eel :

(A) (1) SR 3"
(B) (2) SRR 3§
(C) (1) =Mfo (2) & =ieR 37MRd

(D) (1) smftn (2) T = 3Ted

YA FERREA R0l H2AT gHKIGan
e fren eAfiEE (SSA) sfemd el
_qE ?

(A) 853
(B) 864
(C) 874

(D) 884
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71.

72.

Find the incorrect statement from

the following :

(1) Public policy may be either
positive or negative in form.

(2)

In positive form it may involve
some government actions to
solve particular problems.

3)

In negative form it may allow
decisions by public servants to
take action on some matter on
which government order is
sought.

Codes :
(A) (1) and (2)
(B) (2)
€ )
D) @)

Assertion (A) and Reason (R)
pattern :

Assertion (A) : Public policy
focuses on what Dewey once
described as ‘the public and its
problems’.

Reason (R) : Public policy is about
people and their needs, values and
preferences.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct reason of (A)

(B) (A) is true, but (R) is false
(C) Both (A) and (R) are false

(D) Both (A) and (R) are true and
(R) is not correct reason of (A)

71.

72.

APR - 21224/T1—A

et g faum faer
(1) HESIeh YR Tshal HehRIcHS Tohal
THNICHE TN 3T ehd
T TR fafimne e

FReRT0T SIS hTal HLehTi

FHAra HAEY Y Rl

THCHS TT8U d Hewfeh
Yo ofE SvaE e <
Yehd SR RN 3Ry AT
ST

Hehdlah :

(A) (1) i (2)

(B) (2)

€ 3

D) 1)

faem (A) sufor &= Ro (R) =91 ¢
faam (A) : gEE =i, SEA

(Dewey) T ‘ST mfoT &= Jae’
31T T heredl TSear &87 hisd .

ST (R) : HESITh S0, Wl Ao
T TS, e S WEaeEd 1.

Hehdlah :

(A) (A) @i (R) =1 <R 2710 (R)
g (A) 9 A FRO AR

(B) (A) TR 3R, g (R) § I 3T

(C) (A) @mfor (R) <21 = 2ed

D) (A) 3Tfr (R) St SRR 3TRa o1
(R) B (A) = Irg I TRl

(2)

3)
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73. Match the List I with List II and

select the correct answer from the

codes given below :

(@)
)
(c)
(d)

(1

2)

3)
(4)

List I
(Author/Editors)

Pressman and Wildvsky
James Anderson
Barrett and Fudge
Mazmanian and Sabatier

List II

(Books)

Examining the Policy-Action
Relationship

Implementation and Public

Policy
Implementation

Public Policy Making

Codes :

A) )
B) @
©) @)
D) “)

(@) (®)
(4)
(2)
(1)

3)

(c)
(1)
(3)
(4)
(1)

(d)
(2)
4)
3)
(2)

APR - 21224/T1—A

73. g I =t 11 3f oo 3107 @irette
Hehalehmgd 4rd 3ar fEer :

(@)
®)
(c)
d)

(1)

2)
3)
(4)

e 1
(FTETeh/HUTGeh)

THHA A0 Sgeestnl
S STEEd
e A Fe
A 370 Harfaar

T 11
(Teh)
TFATHHIT § Tiferefi—3TerRm feier-
g
sferieer e ufsesn difers
ST
HESeh &R0 TR 0!

- .
.
+

A) )
B) @O
(C) @)

D) “)

(@ ) (© (@)

4) 1 (@2

2 G @

1 @ O

3 @O (@
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74.

75.

‘Incremental approach of public
policy is unjust as it creates a gap
between those who have more power

and those who have little power.’

Who said this ?

(A) Amitai Etzioni

(B) Yehezekel Dror

(C) Karl Marx

(D) James M. Buchanan

According to Lasswell, policy

sciences are :
(1) Contextual
(2) Multi-method
(3) Unrelated
(4) Problem oriented
Select the correct codes :
(A) (1), (2) and (3)

(B) (2), (3) and (4)

(C) (1) and (3)

(D) (1), (2) and (4)

APR - 21224/T1—A

74. WTESIeh LROTE] dIEd geZehid ST -

75.

FE 38 FHRU AR S I
SR offo =T=aTehe T TR SR
A SR FA . § ol w2
(A) AR Tt

(B) FeHa R

(C) el HeR

(D) S TH. &

(1) TETIEd
(2) wg-dsHl
(3) Tsifed
(4) FHEIIE

T Fehdies ael
(A) (1), (2) afor (3)
(B) (2), (3) afur (4)
(C) (1) smfur (3)

D) (1), (2) afur (4)
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76.

77.

According to Lindblom, which of the
following aspects prevent policy
makers from identifying a full range
of policy alternatives and their

consequences ?

(1) Constraint of time
(2) Intelligence

(3) Cost

(4) Environment
Select correct codes :
(A) (1), (2) and (3)
(B) (2), (3) and (4)
(C) (1) and (3)

(D) (1) and (4)

According to Barret and Fudge, on
which of the following aspects does
policy implementation depends

Choose wrong option.

(A) Knowing what you want to do
(B) Availability of resources

(C) Ability to control these resources

(D) Ability to manipulate resources

76.

77.

APR - 21224/T1—A

feeaiT=a A, Weladdh! S0 e
oy fafer 9T gatr= gl
gufl emfon = w9
e ?

(1) =ebd F9d

(2) g

3) @

(4) THfERT

ArE Gehdish fEel

(A) (1), (2) = (3)
(B) (2), (3) @ivn (4)
(C) (1) @mfur (3)
(D) (1) awfor (4)

S 0T ThoT=aT Hal, WTeiieTteh! ahToTe
Uefe IR STHeTesmavt STaeed
A ? gHa wmE e

(A) T & HUFS TR § S =0

(B) STl ISl

(C) =1 e o= vt &

(D) FHIEH TSIl &1l
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78. According to Dror, which of the | 78 =f u/=m w3, wrefcitis] SR &R
following is a policy making stage ? L 4 o 7
(A) Determining policy making
(A) 9o e SEye 3@
strategy
(B) Establishing operational goals (B) WIET=I SHHIER SFcHeR & SLe)
with some order of priorit . N
P Y (C) U= SAHGaEvt Lo T«
(C) Motivating the execution of 5
policy
(D) Processing problems (D) WSk HHE
79. Which of the following pair/s is/are | 79. @TeicIUeh! IV SISl e eoel! 2118/
correctly matched ? aRd ?
(1) Meta policy making stage — 1 TR A T =em T
Surveying, processing and . .. .
yine. p s gfsrar afor weeH fosfaa =
developing resources
2) Policy making stage - (2) SO SEIUETE] T - U]
Motivating the execution of SRS FT
policy (3) IR SAfTEAHaA T ~ X
(3) Post policy making stage — qifert sREifeg o
Executing the policy o
Hahdish
Codes :
(A) ™ (1)
(A) Only (1)
(B) Only (2) and (3) (B) " (2) ()
(C) Only (1) and (3) (C) ®F (1) & (3)
(D) Only (3) (D) ®E (3)
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80. The 18 stage model of policy making | 80. #RUl M 18 T Aisw A=A Hatad

is related with : AR :

(A) Herbert Simon (A) TS FEFA
(B) Yehezekel Dror (B) ¥gsihel EN
(C) John Kingdon (C) =it fepred

(D) Laurence Lynn (D) @ fem

81. What is the objective of good | 81. { o= 3R & & ?

governance ?

(A) Hoigd
(A) Sarvodaya

(B) Social Welfare
(C) Antyodaya

D) <
(D) Good Government (D) =Tl QA

82. The first report of Nolan committee 82. AreT Widrel Weell STeardl =

is related with : Heifd Se

(A) Official position (A) HEEEE <l

(B) Pay grades (B) o= &oit

(C) Pay commission (C) aad 3TN

(D) Standards in public life (D) WS SeATe gl
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83.

84.

Citizens Charter was first adopted

in which country ?
(A) USA

(B) UK

(C) India

(D) Singapore

Which key dimensions of good
governance were identified as per
World Bank document on sub-

Saharan Africa ?

(1)

Public value management

(2)

Public sector management

3)

Business management
(4) Acountability

framework for

(5) Legal

development
(6) Information and Transparency
Codes :
A) (2), (4), (5), (6)
B) (1), (2), (3), (6)
(©) (2), (3), (4), (6)

D) (1), (2), (5), (6)

83.

84.

APR - 21224/T1—A

AR OC Ta9gH I <Y

et et ?
(A) iR
(B) i

(C) 9rd

(D) femR

He-TeRT 3Thehaiicl STHT

% Shl

SEIUESTTIR GRS Fivd J&d e

ficema &t B9 2

(1) ek oo e

(2) WESHEH &F R

(3) T HIIEIMIA

(4) IEIE

(5) fosrmammdt denfre wrEy
(6) wfest STOT qRERIh
Hehdiah :

(A) (2), (4), (5), (6)

(B) (1), (2), (3), (6)

(C) (2), (3), (4), (6)

D) (1), (2), (5), (6)
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85.

86.

87.

Who is founder of concept ‘Citizens
Charter’ ?

(A) John Manro
(B) John Martin
(C) John Major
(D) John Mayor

Which of the following indicators of
good governance is not given by

Kautilya’s Philosophy ?

(A) The king should be servant of
state

(B) The king should be just and
honest

(C) The king should not follow the
code of conduct

(D) To ensure people’s welfare

Which of the following is not the

reason for the growth of

Administrative Tribunals ?

(A) Administrative justic cheaper
(B) Speedy justic

(C) Flexibility

(D) No provision of appeal against

the decisions of tribunal

85.

86.

8'7.

APR - 21224/T1—A

ARTRERTET TR A1 HeRed WO I
aqE ?

(A) <9 7

(B) i ARMA

(C) S HSR

(D) S #3X

FifeeT= TEHFMES TS HIvR
AL Wi @l ?

(A) TS B TSI AR S

(B) ST & <FEiyd 9 s 319mE]

(C) TN STEREEdl 9o SHial il

e

(D) <k HeIT=l @IEl 3T

TIMHH T ATATEHIOM=AT AT TS

EATAUh! hivd IO &l 2
(A) TSI =T W e
(B) Sdg —=md

(C) wEfaend!

(D) == fAotarfaeg ST

HL Id el
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88. The relations between citizens and | 88. TFi& & TIMET Ir=ARTH Tael ATHAT!
administration are like : A
(1) Clients (1) WEs
(2) Regulatee 2) faf=taes
(3) Litigants (3) foamt (YewhcHam)
(4) Controller (4) T
Select the correct code : I Hehdish TSl
(A) (1), (2), (3) A) (1), (2), (3)
(B) (2), (3), (4) (B) (2), 3), (4)
(C) (3), (4), (1) (C) (3), (4), (1)
D) (D), (2), (4) D) (1), (2), (4)
89. Which are ways of people’s | 89. TIhT= TRIEARIG] HEHNTE i AW
participation in administration ? aed ?
(1) Participation in decision-making (1) frofawfrea g
(2) Participation in implementation (2) FAAASSTAUINE TN
(3) Participation in sharing benefits (3) TNYETEUHE UM
Select the correct code : AT Hehdish Teel
(A) (1), (2) and (3) (A) (1), (2) = (3)
(B) (1) and (2) (B) (1) @ (2)
(C) (2) and (3) (C) (2) = (3)
(D) (1) and (3) D) (1) 9 (3)
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90.

91.

92.

The object of Citizen Charter was :
(A) Democratic Decentralisation
(B) Responsive Administration
(C) Strengthen the Panchayat Raj
(D) Removal of Poverty

Research methodology includes :
(A) Research policy of government
(B) International research policy

(C) Establishment of research and

development cell

(D) Procedures for scientific

investigation

In which model general principles

are developed from specific

observations ?
(A) Micro theory
(B) Induction
(C) Deduction

(D) Macro theory

90.

91.

92.

APR - 21224/T1—A

M T9e=T Se9l & il

~

(A) wemer |

n

[eh Y]

OI:

(B) WfadERds: TIMEH

(C) TETHaUSTe FBhelh{u]

(D) <ifEe e

T TG § HHeE B
(A) TEEHRE HENEA eR9

(B) SIS HNEA &R0

(C) wefeA omifor foshme e Temo

(D) a9 qUEviEEl ufswa

FIoTe greumed fafdre Aieomesa

~ o

T awd faskfaa et Sa ?

(A) g fagia
(B) fam=
(C) T

(D) To@ fogma
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93. Assertion (A) : Designing a | 93 {Fems (A) : TYET THeUrT T FHIAMT
research project needs to include L N
. . . . Sfaer gfEToT=T TR faaR w0 SAevaes
serious considerations of the ethical
dimension. ATR.
Reason (R) : Many social science FEOT (R) : 379F SR g aremg
studies aim at describing situations )
gfifeerdt omfor SeA gui .
and events.
Answer the question using the codes A Fehdleh dTT%- U¥d I <.
given below : .
Hehdieh :
Codes :
(A) Both (A) and (R) are true and (A) (A) =TT (R) T T S AIfom
(R) is the correct explanation (R) ® (A) ¥ I7g iUl 378
of (A)
(B) (A) i1 (R) Sel ¥cF 3Ted W
(B) Both (A) and (R) are true but g
(R) is not the correct explanation (R) ® (A) = Img Tehol e
of (A) )
(C) (A) 9 3¢ g (R) & 3WH 3T
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true (D) (A) s e T (R) & He e
94. The hypothesis that suggests there | 94. 38 TRIdH A Ffad HId Hl, AT
is no relationship among the LY SR e TG
variable understudy :
(A) §¥ TEIdh
(A) Simple hypothesis
(B) Complex hypothesis (B) I
(C) Null hypothesis (C) A Teaw
(D) Logical hypothesis (D) Wi TRraw
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95.

96.

97.

Which approach in research focuses
on understanding behaviours,
attitudes and opinion of individuals

or groups ?

(A) Quantitative approach
(B) Mixed-methods approach
(C) Qualitative approach
(D) Comparative approach

Which is the good source of

formulation of research problem ?
(A) Survey

(B) Case study

(C) Review of literature

(D) Hypothesis

The arrangement of conditions for
collection and analysis of data in a
manner that aims to combine
relevance to the research purpose
with economy in procedure is

known as :

(A) Hypothesis

(B) Research design
(C) Research problem

(D) Research question

95.

96.

97.

APR - 21224/T1—A

HYNEAIA ShI0al gfeh STl fehan

T A, g S0 Ha H/AESA SUEER
higd M ?

(A) TEAHE g

(B) s usd=n gieam
(C) TuTeHeh gfteehM

(D) FoeHh gieeh

HINYA L SUSUIEE hivd =Tl
YA og 7

(A) HIem

(B) =T A5TH

(C) weeiarfecman e

(D) TR

2T Hehorret a TowersoTe STeN TEA
T AT Ie¥l WINEA B ATEEING
TS HIET A HETSA AT Sad
-E”?D-&[ ‘-_EFUW;T .

(A) T

(B) HIMEATET TGS

(C) HYNed TIqeET

(D) YN W9A
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98.

99.

Name the research method which is
usually done by developing a close
interaction with members of a group
or living in the situation which is

being standard.

(A) Case study

(B) Participant observation

(C) Community discussion forum
(D) Participators research

Which is not the function of research
report ?

(A) To communicate the research

result

(B) To help the executives in

selection of right action

(C) To verify conclusions of others

(D) Using inappropriate research

methodology

100. Which of the following is not search

engine in research ?
(A) Alta Vista

(B) Google

(C) Share Ware

(D) Britannica Encyclopedia

98.

99.

100.
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HHTI ;. T SHeriel 37T STfRagR
Tenen = feerdi=n o792 SHIOR o7 O &=
Teorda g &l S

(A) == eI

(B) weyrit fiem
(C) WEsife ==l o4
(D) Heurit HeieH

YN TS WelcTish! v i
e ?

(A) TeneETn fres wgfaa o)
(B) EHR Y@ I Fhl HvA™
TEd IO

(C) guar=n o= ugdel Fo

(D) = TeNEA Tgdi W

TYNEATES WeAlelieh] v e Sior
T ?

(A) st fee

(B) e

(C) TR TN

(D) foerfen fagasnre
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